= o
A & 0l & AF 2 E A A
20158 = S0l& LB A IIEISESIH, SILSESH et
N L1
HE: S0 BHOH
el Eare A s (sl &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Epa Ny 37,213,565 29,898, 886 7,314,679
= 9,894,459
X 4,769,000
J| 8,982,967
< 13,567,139
=S4y FFoE 26,285,557 23,578,366 2,707,191
= 8,466,959
X 600,000
J| 8,982,967
< 8,235,631
SMY FHEE 25t 6,332,416 3,613,110 2,719,306
Xl 600,000
J| 3,473,840
= 2,258,576
Sy 29 14,200 14,200 0
201 £B-2dH| 13,000 13,000 0
01 At 22l 13,000 13,000 0
OBt & ==ZHl 13,000
203 R =&t 1,200 1,200 0
03 AI®F=XH S Z=ZH| 1,200 1,200 0
OB AN =7 1,200
st Z3YH LAY 662,900 632,500 30,400
307 21201 A 65,000 50,000 15,000
04 QIZFHALAIH B = 65,000 50,000 15,000
Ost? AUz (=, &8=) 20,000
OF= &2AE =X 30,000
OES B2MYUN NEX Y 15,000
308 XX EHH SOl A 583,500 562,500 21,000
01 HXNHHBHELS 583,500 562,500 21,000
OFSZIete LREYE |4 150,000
OALnl BHAsI dAME 148,500
OSO0LRI & 4 OHA 45,000
OF2 AMAlzz2 XI& 30,000
OMs™ ste2d4 Hs N 150,000
Oste =3e olMA=E X 15,000
Osteilss SEIMH 45,000
403 MHXSHHSA=0l& 14,400 20,000 25,600
01 X ESHHMA=E L 14,400 20,000 A5,600
O=sWsEIHI| XA 14,400
RAZHH 2sHAY 122,850 212,850 90,000
308 XXIEHH SOl 122,850 122,850 0




A &
Bu: MY AR
CHel Bae M s (el @)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
01 IXNHHBANEES 122,850 122,850 0
OR2z s833HeE XA 94,500
OYsgH(&<20) 28,350
StNRFSA 2,216,359 1,939,200 277,159
| 1,846,966
< 369,393
308 XXM SO0 A 2,216,359 1,939,200 277,159
| 1,846,966
< 369,393
01 HIXNHHBNEES 2,216,359 1,939,200 277,159
OgtneesA 2,216,359
J| 1,846,966
< 369,393
IFI=ETHEE 150,000 100,000 50,000
308 XtXIEHH SOl A 150,000 100,000 50,000
01 AXNSHHBANEES 150,000 100,000 50,000
OJI =Ml EE 150,000
SMAE U ALY 1,422,375 0 1,422,375
J| 1,422,375
403 A X EHHS =0l A 1,422,375 0 1,422,375
| 1,422,375
01 X EHHM A= LE XL 1,422,375 0 1,422,375
O=AtAIY S Hst 1,422,375
| 1,422,375
EZYE BSEH =3ES 138,708 0 138,708
| 106,699
< 32,009
308 XXIEtH S0 A 138,708 0 138,708
| 106,699
< 32,009
01 HIXNHHNBMNEES 138,708 0 138,708
OCESY B2 2823 138,708
J| 106,699
< 32,009
Loy =4 325,000 300,000 25,000
308 XXM SO A 235,000 210,000 25,000
01 IXNSHHBANEES 235,000 210,000 25,000
OLdSs2ME B2 165,000
O2Y 2T (LS, 432 ) 2= 70,000
403 MtXISHHE =0l & 90,000 90,000 0
01 AXSHHMA=2E X 90,000 90,000 0
Og=s Moz Held¥d XA 90,000




A &
Bu: MY AR
CHel Bae M s (el @)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
=S ALS 90,000 90,000 0
308 XXM SO0 A 90,000 90,000 0
01 AXSHHBLEES 90,000 90,000 0
ODsZ YN WA B3 90,000
SAAE S ALY 306,500 324,360 A 17,860
403 MtXISHE X201 & 306,500 324,360 A 17,860
01 XM A=2EE 306,500 324,360 A 17,860
ONEANT(RAE) SUst 120,000
Z20tE JIEBS UsSAlE XA 108,000
OSMUE HR2ASAIE £ 36,000
O=A &2 OoigXl Ald &X 10,500
OMENED 2EX2EFEIX X 32,000
2oy 4 NJAMG 37,524 0 37,524
| 31,800
= 5,724
308 KXIEHS0IA 37,524 0 37,524
| 31,800
= 5,724
01 IXNHHEBANEES 37,524 0 37,524
Osgds0td & 37,524
| 31,800
< 5,724
ASaty Z2932dAH sS4 780,000 0 780,000
Xl 600,000
< 180,000
403 Ut S S X201 & 780,000 0 780,000
Xl 600,000
< 180,000
01 XXM A=2E = 780,000 0 780,000
OAMSsLY Z2A3eAH 84 780,000
Xl 600,000
< 180,000
4 ICT SSEAME 66,000 0 66,000
| 66,000
403 XAXISHM S K201 A 66,000 0 66,000
| 66,000
01 AXSHMA2E =R 66,000 0 66,000
O ICT s=SeMd 66,000
J| 66,000
IS4 I8 24 6,284,453 8,434,300 A2,149,847
| 3,182,843
< 3,101,610
NEER MEMAE 393,500 986,000 A 592,500




N L1
Bu: MY AR
Sl MEAEL JIE XA (ol @)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
J| 393,500
403 A X EHHS =0l A 393,500 986,000 A 592,500
J| 393,500
01 AXISHH A2 = 393,500 986,000 A 592,500
OI=EE2=HE HMelAl& 393,500
J| 393,500
F&E 2ZNLEXA 10,643 23,250 A 12,607
J| 10,643
403 A X EHHS =0l A 10,643 23,250 A 12,607
J| 10,643
01 X EHHMA=ZE L 10,643 23,250 A 12,607
OFE 2 MNARE 10,643
J| 10,643
dHRE 243 515,100 366,900 148,200
Jl| 365,800
< 149,300
308 X EHSOIA 326,400 86,400 240,000
Il 240,000
& 86,400
01 HIXNHHNBNEELS 326,400 86,400 240,000
OHHIMEX =2 25H 3= 86,400
O9dla =yl XA 240,000
Jl 240,000
403 Mt SHHSA=0l& 188,700 280,500 291,800
J| 125,800
< 62,900
01 HXSHMA=EE 188,700 280,500 A 91,800
OdHIMEFX &X 188,700
J| 125,800
=) 62,900
IsEx 2sXHAs A4 230,000 1,380,000 A 1,150,000
J| 200,000
=) 30,000
403 X SHHE A0l & 230,000 1,380,000 A 1,150,000
J| 200,000
=) 30,000
01 AXSHHA=2E = 230,000 1,380,000 A 1,150,000
OBSXESAE HE* 230,000
J| 200,000
< 30,000
Mz N 3= 100,000 100,000 0
308 XtXIEHHSOIA 100,000 100,000 0
01 X HHILEES 100,000 100,000 0
ON=dzHM = 100,000




2N
X ZH -
L= B

el

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
AL A B S S ALY 3,844,570 3,473,200 371,370
| 2,212,900
< 1,631,670
308 XXM SO0 A 3,348,520 3,093,200 255,320
| 2,124,400
< 1,224,120
01 IXNHHBNEES 3,348,520 3,093,200 255,320
OMgZEE BSXUH 655,200
J| 468,000
= 187,200
OAr el Xl M =Hl 2,560,000
| 1,600,000
< 960,000
O EZZALX WEXNA 60,000
OZXAMNZE SEE4H L 12| 73,320
| 56,400
< 16,920
403 XA SA=0l& 496,050 380,000 116,050
| 88,500
< 407,550
01 X SHMA=E X 496,050 380,000 116,050
OZAt2 BEH ZHl 85,500
| 45,000
< 40,500
2 ==t&dl XI& 279,000
OZAZ JIZ3AIE E2 54,000
OXA Mo BHH 43t 21,000
OXAE SE=24 ZH 23 56,550
| 43,500
< 13,050
SMFLEEXN Bz 13,440 8,400 5,040
308 XXIEtH S0 A 13,440 8,400 5,040
01 IXNHHBNEES 13,440 8,400 5,040
OB IFEN 23 13,440
OHOZdlol& CHaY 600,000 579,150 20,850
308 XXIEHHSOIA 600,000 579,150 20,850
01 IXNHHBANEES 600,000 579,150 20,850
OAMZ A= MAXA 600,000
Ed sMsIt |4 54,000 54,000 0
308 XX EHH SOl A 54,000 54,000 0
01 HXNHHNBHEELS 54,000 54,000 0
OHBABHNES AZEEI} |4 54,000
SAAE SZHH 523,200 566,400 A 43,200




N L1
HE: S0 BHOH
Sl AEAFY JlB X4 (29l & 2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 XXM SO0l A 43,200 0 43,200
01 IXNHHBNEES 43,200 0 43,200
OJIsEHHM 018 =852 &4 43,200
403 XSS X201 & 480,000 566,400 A 86,400
01 X SHHX2E = 480,000 566,400 86,400
OXSAZA AILEH B2 390,000
OJ=EErXel AINEZT B2 90,000
et g st ¥ 7RSI &S 2,510,786 1,968,466 542,320
= 36,800
J| 1,440,543
< 1,033,443
SHE RSIE &5 136,000 291,000 A 155,000
307 glz2+ol & 127,000 91,000 36,000
02 It A AMHEE 60,000 0 60,000
OEXAL SEQUE sS4 ZEN X 60,000
04 DIZHHALALSE E X 67,000 91,000 A24,000
Od= =42 HAEEZ NN 27,000
O=E= SHESEHE HAEE 40,000
403 XIS E X201 & 9,000 140,000 A 131,000
01 AXSHHM 22 = 9,000 140,000 A 131,000
OIS NI XL 9,000
EEZAE oAH X 1,612,000 914,000 698,000
J| 967,200
< 644,800
307 gl2tol & 1,612,000 914,000 698,000
J| 967,200
< 644,800
02 It M AHEE 1,612,000 914,000 698,000
OE=Z AL 2118 XA 1,612,000
J| 967,200
< 644,800
=B X & XA (HACCP) AL 141,120 156,800 A 15,680
J| 115,200
< 25,920
308 XXM SOl A 141,120 156,800 A 15,680
J| 115,200
= 25,920
01 IXNHHBNEES 141,120 156,800 A 15,680
OFAEZ & X & XA (HACCP) Ak e 141,120
J| 115,200
< 25,920
HMDII0ISHM(HES =) 465,586 465,586 0




EXN: Fat
HE: S0 BHOH
Sl OFHAS U REIIE HE (B9 ®R)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
J| 358, 143
= 107,443
308 XNHXIGHH SO0l & 465,586 465,586 0
J| 358, 143
& 107,443
01 IHXHHNIMNEXS 465,586 465,586 0
OAMDI| O (HMEREH]) 465,586
J| 358, 143
= 107,443
EMEBAN2A H2ZALY 111,000 96,000 15,000
201 et d| 6,000 6,000 0
01 AFR 2t 2| 4| 6,000 6,000 0
SMNEFSEA AMILE2 H & 6,000
308 XHXIEH SOl A 105,000 90,000 15,000
01 AIXSHMEMNEX= 105,000 90,000 15,000
OQHAME & Heldlg X 105,000
SNMSEAHE HACCP A 45,080 45,080 0
= 36,800
& 8,280
308 XHXISH SO0l & 45,080 45,080 0
= 36,800
& 8,280
01 IXHHIMNEXS 45,080 45,080 0
OFMNZEHE HACCP A 45,080
= 36,800
& 8,280
EHAAS 11,157,902 9,562,490 1,595,412
= 8,430,159
Jl 885,741
& 1,842,002
MY, ZRAE[AUI} YA 626,200 566,200 60,000
201 YEtS | 4,600 4,600 0
01 AR 22l ] 4,600 4,600 0
OJIse9dEs s M B3 3,000
OFRME, Al SEAEASH S| 1,600
308 MXISHMSOIA 561,600 501,600 60,000
01 IXHHIMNEXTS 561,600 501,600 60,000
Oaras2sE & ¢ 180,000
OFME HLES L2SAY 291,600
OXFQUE2UI Y HASZM =3 90,000
403 XX SRS K20 & 60,000 60,000 0
1 AXSHHAZ2E R 60,000 60,000 0




N L1
Bu: MY AR
Sl DS e ALY (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
Os&sgd7 As4as)| 4 60,000
=S ALY 3,724,373 3,814,635 A 90,262
= 3,690, 159
= 34,214
308 XX EHHSOIA 3,684,373 3,789,635 A 105,262
= 3,650, 159
< 34,214
01 X HHILEES 3,684,373 3,789,635 A~ 105,262
OJ=FUE=AL & J1¥s M 3,200,073
= 3,200,073
O Exdctd ME2FH 195,090
= 195,090
OFMXE SEMH 23 148,262
= 114,048
< 34,214
OHNAZHEE XNEZXE ALY 30,000
= 30,000
OIS Xl At=2tel 89,250
= 89,250
OFHM HAFES 23 21,698
= 21,698
403 MtXISHE X201 E 40,000 25,000 15,000
= 40,000
01 AXSHHMA=2EE 40,000 25,000 15,000
OAL2=ZH =2 25,000
= 25,000
OJ=segdxz XA 15,000
= 15,000
N=EZYEUE - ASAAE 2= 582,809 568,735 14,074
J| 528,741
< 54,068
308 XXIEHH SOl 582,809 568,735 14,074
J| 528,741
= 54,068
01 IXNHHBNEES 582,809 568,735 14,074
O3 MG Q] 324,408
J| 270,340
< 54,068
O=s&HE 29l 258,401
J| 258,401
sddlie 25 147,920 259,920 A 112,000
308 A EHSOIA 147,920 151,920 A4,000
01 AXNSHBLEES 147,920 151,920 A 4,000
O3y A sk 97,920
O=s2E3dH 29 50,000




2N
X ZH -
L= B

el

=41
B4 HYOH
& ALY

SA - BB B () - MM - BES Ol &t o San HmEET
F2 JEdgY 22X 281,100 253,500 27,600
308 AHXIEHH SOl 281,100 253,500 27,600
01 HIXNHHBNEES 281,100 253,500 27,600
OS0tX EAtE olgtHal 25 27,600
OXRA HAZN ALE A 36,000
OXA BME (s 33 28,380
O2H HEE HEA 78,870
o8 888 g At 49,500
Oz HgE HEAY 60,750
S2SLALZ Al 2,000 2,000 0
206 = Hl 2,000 2,000 0
01 MHZ 4l 2,000 2,000 0
O=sS28 A4S =HlE 2,000
AXHEENS 3,500,000 3,500,000 0
= 3,500,000
308 AHXIEHHSOIA 3,500,000 3,500,000 0
= 3,500,000
01 HXNHHNBMNEELS 3,500,000 3,500,000 0
Oaxz 243 3,500,000
= 3,500,000
tIsfdeEAld=: X 595,000 595,000 0
J| 357,000
< 238,000
307 glz2tol & 595,000 595,000 0
J| 357,000
< 238,000
02 QIZtE A AHEE 595,000 595,000 0
ONsAdYgaAld=zs 29 595,000
J| 357,000
< 238,000
BtAsSE2E8sas 293 2,500 2,500 0
201 2et24d] 2,500 2,500 0
03 &Ar2 Gl 2,500 2,500 0
Ottdds=E2ss 2¢ 2,500
Al HELASA EX 336,000 0 336,000
=2 240,000
< 96,000
403 MHXISHHSA=0l& 336,000 0 336,000
=2 240,000
< 96,000
01 HXSHMA=E X 336,000 0 336,000
OAl HEASA &X 336,000




2N
X ZH -
L= B

el

= g
Moz oz
0T 19 &
0¥
02
Q
0!

12
=
118
m
40
[pad
10

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

i
2

240,000
96,000

Rl

It

ift]

5 g HMelAE X 1,360,000 0 1,360,000

,000,000
360,000

oy

403 A X EHHS =0l A 1,360,000 0 1,360,000

,000,000
360,000

oW

01 HXSHH =L E 1,360,000 0 1,360,000

OJ2%F dd MelAd K& 1,360,000
,000,000
360,000

o

=
1
2
<
114
e
0x
ng

0,871,168 6,264,000 4,607,168
1,427,500
4,169,000
5,274,668

hn= i

=
B
e
=
R
50
0x
2

871,168 6,264,000 4,607,168
427,500
N 4,169,000
= 5,274,668

W

W2 elsatetd &3 193,500 215,000 A 21,500

180,000
13,500

H H

403 A X EHS =0l A 193,500 215,000 A 21,500

180,000
13,500

SRl

01 HXSHH =X 193,500 215,000 A 21,500
OU=+=2 zitetd &X 193,500

180,000
13,500

x

oW

rx
OB
t0
2
ife
0z
3

315,000 315,000 0

280,000
35,000

1

=

308 MHXIHHMSOH 315,000 315,000 0
Xl 280,000
35,000

t

[t}

315,000 315,000 0

315,000

Xl 280,000
35,000

01 X SHHBaEx
2

OS2

0T
u

H

>
=4
0g
3
fol
[
P
=

35,000 35,000 0
Xl 28,000
7,000

H

403 A X EHHS =0l A 35,000 35,000 0
Xl 28,000
7,000

H




N L1
FM: U=+=BH0Y 243
Sl L2 oY S4 (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 S| 2SO0l CHEHCHE AH B 35,000 35,000 0
OXNEEFT SWXZA 35,000
Xl 28,000
< 7,000
ALY XS ALY 78,300 79,600 A 1,300
= 54,000
< 24,300
308 XtXIEHHSOIA 78,300 79,600 A 1,300
= 54,000
= 24,300
01 HXNHHBHELS 78,300 79,600 A 1,300
ONAILHY HESH ALY 78,300
= 54,000
< 24,300
H2 O HEALD Ol & 27,000 27,000 0
403 Ut SHHSA=0l& 27,000 27,000 0
01 HXSHMA2E X 27,000 27,000 0
Oz ool otEALD Olg JIBtx Y 27,000
ST =4 2 252 143,500 132,500 11,000
308 XXM SO0l A 143,500 132,500 11,000
01 IXNHHBENEES 143,500 132,500 11,000
OES=S0 EERES & Ugda $=7 60,000
OEZENR XY &7 X2 40,000
OW=H MEH D&tHE FHAY 30,000
OFlgtd 20 54 MY 13,500
A HZ2HY s4 40,300 40,300 0
308 A EHHSOIA 19,300 19,300 0
01 HIXNHHNBHEELES 19,300 19,300 0
Oogel =4l & FENMZ 3,300
YA YO FMAE U FAFY B 16,000
403 Ut S E X201 & 21,000 21,000 0
01 X EHHMA=LE L 21,000 21,000 0
Oul=d &A™ HA Ooitibl AlE Jdl ALY 21,000
SO S A AHESHX ZHALS 7,483,618 5,063,000 2,420,618
X 3,050,000
< 4,433,618
401 Al HIZ 201 I 1,383,618 2,734,000 A 1,350,382
01 A& HI 1,383,618 2,734,000 A 1,350,382
O AZAANEFHI =L2X EXNOHY 1,383,618
403 MtXISHHE X201 H 6,100,000 2,329,000 3,771,000
Xl 3,050,000




2N
X ZH -
L= B

el

SA - FE - BI(EA) - NRAY - By 0l &t San DS

= 3,050,000

02 S| 2SO CHEHCHE AL B 6,100,000 2,329,000 3,771,000
O A SANEHIZE A 6,100,000
X 3,050,000
& 3,050,000

=8 =8O ES Y 2 8,700 11,600 A 2,900
= 6,000
< 2,700

308 AAIEHHSOIA 8,700 11,600 A 2,900
2 6,000
< 2,700

01 HXNHHBHELS 8,700 11,600 A 2,900
OU+0 2MuTIRE5RY 22 8,700
= 6.000
= 2,700

=8 2AHT =4 AtY 1,300,000 0 1,300,000
= 1,000,000
=) 300,000

403 MtXISHH S =0l & 1,300,000 0 1,300,000
= 1,000,000
=) 300,000

01 AXISHHA=2E = 1,300,000 0 1,300,000
OU==2 2AHI =4 ALY 1,300,000
= 1,000,000
< 300,000

Was 0T HEe Al 243,750 0 243,750
= 187,500
= 56,250

403 A X EHS =0l A 243,750 0 243,750
= 187,500
=) 56,250

01 XXM 22 = 243,750 0 243,750
OuUl=® & MHE=> At 243,750
= 187,500
=) 56,250

JEd 0lRetk] 2T s4 258,000 0 258,000
X 240,000
& 18,000

403 UHXSHHSA=0l& 258,000 0 258,000
X 240,000
< 18,000

01 X SHHMA2E X 258,000 0 258,000
Oz &d Ol Retkl LAz =4 258,000
Xl 240,000
< 18,000




AN e

FM: U=+=BH0Y 243
S U= g s4 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Ct+cl OtR0telZE EAINE &5 650,000 0 650,000
Xl 500,000
< 150,000
403 XSS A=0l& 650,000 0 650,000
Xl 500,000
< 150,000
01 XM AZ2E X 650,000 0 650,000
Oltsel Or=R0tel8 HAIANE &= 650,000
Xl 500,000
= 150,000
M2 AKX JISAIE AHE 94,500 0 94,500
Xl 71,000
< 23,500
403 XIS S X201 & 94,500 0 94,500
Xl 71,000
< 23,500
01 XXM 22 = 94,500 0 94,500
Ozx=4tE &K JIZAIE A8 94,500
X 71,000
< 23,500
HY2FZHI (F4H) 56,840 56,520 320
Jl=&l 56,840 56,520 320
Jl234l 56,840 56,520 320
201 Let24d] 17,740 17,220 520
01 At 2teltl 17,740 17,220 520
OJle+=&Hl 7,240
OJlEs &l 10,500
202 oddl 37,800 37,800 0
01 SLHOIYI 37,800 37,800 0
OJl=0tl 37,800
405 KtabH S| 1,300 1,500 2200
01 AL ESFH S 1,300 1,500 A 200
OHM=7I 500
Oad =8l 800




